\/

=S
n\/eﬂt | HOFFMAN We connect and protect

Wall-Mount Solar Shield Replacement Hardware

Kit

Replacement Hardware Kit is available for the replacement
of lost or damaged hardware supplied with Wall-Mount
Solar Shield.

ﬁﬁj“w

&=

FEATURES

Kit includes (8) 3/8-16 screws, (8) 3/8-16 clamping nuts, (4) 3/8 sealing washers, (4) 1/2-20 screws, (4) 1/4-20 clamping
nuts, (4) 1/4-20 sealing washers, and (4) flat washers




SPECIFICATIONS

Table 1/1
Catalog Number Article Number Material Finish Quick Ship
SWHDK4
30422 Mild Steel Plated No
WARNING

nVent products shall be installed and used only as indicated in nVent's product instruction sheets and training materials.
Instruction sheets are available at www.nvent.com and from your nVent customer service representative. Improper
installation, misuse, misapplication or other failure to completely follow nVent's instructions and warnings may cause
product malfunction, property damage, serious bodily injury and death and/or void your warranty.

\vs
Our powerful portfolio of brands:

“, N
n\/ent CADDY ERICO HOFFMAN ILSCO SCHROFF TRACHTE

©2025 nVent. All nVent marks and logos are owned or licensed by nVent Services GmbH or its affiliates. All other trademarks are the property of
their respective owners. nVent reserves the right to change specifications without notice.

This document is system-generated. nVent.com/HOFFMAN | 2



https://origin-nvent.nvent.com/en-jm/hoffman/products/encswhdk4
https://www.nvent.com/hoffman
https://www.nvent.com/hoffman

